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SERIIAR OB RN BT N2 l2 & HUMEI T NET, STEHEEDOFRHEE IOV CGEINREVEL 2O THREWTZLET,
TEROLBY, A2 OF 2T WROIZ . OFEG|% B ETIZ, 2GS TRBYVET O E~D ANEE BREVNZLET,

E 415y | 5H%y 6H 47 TH5 9H 4y 104> | 11H% | 12H% GES 2H 4y 3H 4
AR BE | tmA e 5H19H 6H9H 7TH8H 9A8H | 10H8H [11H10H | 12A8H 1H8H 2H9H
206l H FEER I 2L 620 H 72l 9H22H | 10H20H | 113204 72l 120H 2L
ta Rt 5,800 5,800 5,800 5,800 5,800 5,800 5,800 5,800
PTAZ % 300 300 300 300 300 300 300 300
1A PSR 1,800 1,800 1,800 1,800 1,800 1,800 1,800 1,800] ¢ FHIEA | A | X FWEA
51 % FHCEL 10 10 10 10 10 10 10
FE 5 | & ZhaT 15,810 7,910 7,910 7,910 7,910 7,910 7,910
ta Rt 5,800 5,800 5,800 5,800 5,800 5,800 5,800 5,800
PTAZ % 300 300 300 300 300 300 300 300
2 TSR 1,800 1,800 1,800 1,800 1,800 1,800 1,800 1,800] ¢ FHFEA | X FHEEH | X FWEA
o1& FHE 10 10 10 10 10 10 10
O3 5 | VR BRET 15,810 7,910 7,910 7,910 7,910 7,910 7,910
R 5,900 5,900 5,900 5,900 5,900 5,900 5,900 5,900
PTAZ % 300 300 300 300 300 300 300 300
REGEVES ARG 2,000 2,000 2,000 2,000 2,000 2,000 2,000 2,000] 3 FHEEA | % A | X REH
51 % FHCEE 10 10 10 10 10 10 10
O A 5 | P& RHGT 16,410 8,210 8,210 8,210 8,210 8,210 8,210
B 5,900 5,900 5,900 5,900 5,900 5,900 5,900 5,900
PTAZ 300 300 300 300 300 300 300 300
TR 2,000 2,000 2,000 2,000 2,000 2,000 2,000 2,000] ., - Y = Y =
HRE FENL A 2,000 2,000 2,000 2,000 2,000 2,000 2,000 2,000 KRR | RPEA | K SR
gl FIE 10 10 10 10 10 10 10
F1RE 5 | T ZAaT 20,410 10,210 10,210 10,210 10,210 10,210 10,210
fn B 6,000 6,000 6,000 6,000 6,000 6,000 6,000 6,000
PTAZ % 300 300 300 300 300 300 300 300
FAESEE 2,200 2,200 2,200 2,200 2,200 2,200 2,200 2,200 .. . Y - Y -
A AL 2,000 2,000 2,000 2,000 2,000 2,000 2,000 2.000] = AR | R RIS | Ok GEA
g% FECE 10 10 10 10 10 10 10
EEER3 RS 21,010 10,510 10,510 10,510 10,510 10,510 10,510
fa B 6,000 6,000 6,000 6,000 6,000 6,000 6,000 6,000
PTAZ % 300 300 300 300 300 300 300 300
FAESE 2,200 2,200 2,200 2,200 2,200 2,200 2,200 2,200 .. . Y Y
644 L4 2,000 2,000 2,000 2,000 2,000 2,000 2,000 2.000] = AR | R RIS | Ok G
g% FECE 10 10 10 10 10 10 10
O 8 5 | V%8RG T 21,010 10,510 10,510 10,510 10,510 10,510 10,510
X PTARERREHTOBURELGYET , FTORELVBUISE TNV EEFET,
¥ OAFEAEFIYBIEEBNLET  SEBRATEE 6 EBERITE - ZET7ILNLROERICEHLET,
X HBE-FERMH-BALITOVTIH 1AUBERARALLET DT, RV ELEMNREL-®. 1 AUBOOES EEEEFERN-LET,
X 1EEBEOOESIENESREECIRETGELG-IGEII2EEDOES | ZEZTVET N, 2B B OO ESE T ER Lo HEXREHINE

SETCWVEEET 486,45, TR 12R . 2-3AR T DEELTIX2E B AESIZIEXHYFLADT, 1R B IS5 EZETFREEGNEREBNELGYET,



